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ACCOUNTANCY

Full Marks : 100

Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
for the questions.
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(i) Life membership fee is a _ receipt.

TR IS NJE G0l __enfes

(i) Interest on Partner’s loan is to be credited to his Account.
SR A Bt 9 ol o et (((eh) =

(iii) If there is any profit on Revaluation of Assets and Liabilities, the same will |
be shared by partners in their ____ratio.
I AAE 8 (IR 52 SEORE e T, O Ae SR WG

weice (@Re) o T meTl =W

. (zv) \\Ehe amount due to the retiring partner is transferred to his
1 \/ E;count in case it is not paid immediately.

A SRl G SR s Bl 1 SikecE ewie I 1 =, ©IRCe DIl O

W (IeTT) AR 0 =

() Choose the correct alternative : 1x2=2

oy o8 @E @ 2

(i)  If the business is sold as a going concern, cash balance is also transferred

to Account. _
G0 TIAW B, Wiz AE 4@ [ I [KiE 27, orim A 95 qite w@ =l
Brlefe R giee = 27| |
(1) Revaluation

?qs eI
(2) Realisation

QU
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M= U NG T =TT CSUDIT ' CRMS ™I TPAFY WHATNUM I MCSOUILLNS (W leBts L A &0 W

is
RIS SRR B A (GRA ‘A-an sl & =1 =
(1) 5% | |
2) 6%
3) 7%
4) 8%

(c) State whether the following statements are true or false : 1x2=2

Nova Refoals wa a7 om0 e

(i) Debentureholders are the owners of the company.

Aeof@UaRl AN e |

(ij) Company’s shares are generally transferable.

@RI THPTTEE YRS TFERCI] 2 |

T What is a Capital Fund ? 2
T A o F @ARI?

5 Mention any two rights of a partner. 2
ST (P 415 SR S FEI |

£ What is hidden goodwill ? 2+
2@ AN IS DN QRIAL
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10.
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‘What is trend analysis ? Mention its usefulness.

HeAre AL O Sl Q2

Give any two distinctions between shares and debentures.

SRNAIT 8 JAHTT W (T (P 76 oML e

Mention six statutory books to be maintained by a company.

@A <@ AR GBS W T e |

Explain the accounting treatment of loss on issue of debentures in the books of
company.

Qeioica BRI 26T EIRN Gl @riia FRoem e el 39 41 =
I :

Give the major heads on the “Equity and Liabilities™ side of a Company’s Balan

sheet.

@R Efesa SRl ¢ o otRR I3 MemmelE e |

OR / g%t

G Syt Fe @ el S SRl

How would you calculate the amount payable to the executor of a deceased partner

GG O SRAMIR SRR g Tl f[FSI il 2



11.

1

MEHTIOn thrée SITALONS UHder WhiCh™a TIrhi#nay be dISsOIVEd WIthout Iervenuom oy ™~ =
court. ]

Wmﬂwmmﬁmﬁmﬁrﬂmwwm_m foa15 A% S
FEI '

OR / g4t

X Ltd. company forfieited 800 shares of ¥ 10 each issued at par for non-payment of
15t call ¥ 2 and Final call ¥ 3 each. Out of these, 500 shares are re-issued at 10%
discount.

Give Journal Entries in the books of the Company. ‘ : 3

X fafide @r=im efom ey B w@ 800 10 Breiw wieifid @ Wl
2 Bl '@ pOTS Te 3 DI SiWIH 7 SIS AN TR | 99 500/ Sisid 10% TS o578
R 731 20| @NE WoR Tt ARk we |

Calculate Acid-Test Ratio from the following : : 5
Na O (AT GG (B8 SHEATS Aol TN ¢

Current Assets T 50,000

Skre e ‘

Current Assets include the fdllowing —

Stock < 14,000
==w o0

Pre-paid Expenses < 1,000
Current Liabilities % 20,000

Cwrent liabilites include Bank overdraft ¥ 5000

5= (R TR IF SOREIE T 5000 SRS T SR
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13. From the following information, calcufate cash flow from operat

- . W W VW
ring Activities using
5

Toa wET (AT AGTF AGSCS SARR FIT (AT 5% 47 29T 2] = 8

Profit and Loss Account for the year ended 31.3.2013
31.3.2013 wifdrd ie Qe I FAS-ANFACGE Rt

Dr

Cr

B < ; 3
To Cost of goods sold 1,30,000 By Sales 2,00,000
ffere e wFaEy . R
" To Gross Profit c/d 70,000
2,-00,0_00 2,00,000
To Salary -20,000 By Gross Profit b/d 70,000
@S I =TS
To Insurance 2,000
i
., To Depreciation 5,000
e ‘
To Income Tax 8,000
To Net Profit 35,000 —
.WW
' 70,000 70,000
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wfelte © @

(1) Debtors — Opening Balance ¥ 15,000, Closing Balance ¥ 20,000.
(AMR  —  (AER 5@ T 15,000, I6EF T T 20,0001

(2) Creditors — Opening Balance ¥ 10,000, Closing Balance ¥ 12,000
e — (i B8 T 10,000, I ©9% T 12,0001

(3) Stock —  Opening Balance ¥ 7,000, Closing Balance ¥ 10,000.
TGS AP — AR g ¥ 7,000, T Tg% T 10,0001

-

(4) At the end of the year, outstanding salary ¥ 2,000, Pre-paid insurance ¥ 400 and
Income tax outstanding ¥ 1000.

TREE O (7 (@ T 2000 B, Wi o A g 400 T 8 5! A S
F 1000 GBIt

14. From the following items of Receipt and Payment Account of South India Club,
prepare an Income.and Expenditure Account for the year ended 31.3.2013 : 5

MY e FIER NG ST TN-LF0A BART OAFTNZ (ACF 31.3.2013 ACE 7 9T

<
Salaries paid i mdie £ 155,000
aMe (o ] '
Lighting Expenses 5,500
Rgeen 4o
Stationery (including ¥ 400 for the previous year) . 4,000

PR v (Rors IR 400 BRF SU9S T WD)
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Subscription received (including ¥ 1,000 received in advance B
and ¥ 750 for previous year) 44,000

7w i (1000 Gisl WTEW 8 750 e Ig=d
IS A D)

Net proceeds of refreshment room 30,000
e wer @i 2ife

Miscellaneous Expenses 3,000
Ry <=5
Interest paid on loan for 3 months ' 1,200

S5 MR & I Boix emm w1 o

Rent and Rates (including ¥ 500 prepaid) 4,500
oIl '8 9 (500 R TS T WI®)

Locker’s Rent received , 4,900
FRIER ©ITT 2

Additional Information :
TfoeE O 2

On 31.3.2013, subscription in arrear was ¥ 4,700 and interest on loan was outstanding
for 9 months.

31.3.2013 It e 287 T2 T AN T 4,700 Biel @ e Bl 9wv1wﬁc@
WWI

15. What is Partnership Deed ? Mention its four principal clauses. 5
I B <0 R @R @3 SR I W S @
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10.  IVCCT “MA" SAMCLT” 4T Partitts i’ a~fifm” $Kaing profifs i the ratio of 5:3. On 1%
January 2012, their capitals were ¥ 35,000 and ¥ 25,000 respectively. On that date,
they admitted Varun as a new partner for 1/5t share in the profit. Varun brought in
< 20,000 as capital and ¥ 8,000 for his premium for goodwill. 5

Pass necessary Journal Entries in the books of the firm on Varun’s admission. The new

profit sharing ratio will be 3:1:1.

T ¢ 7 TR TP 513 SHATS S~ GRIR 2957 T | 1.1.2012 ©IFH €T
A 2E @0 35,000 8 25,000 O | B wifiva @t T 15 et sives RV Tom
AN AR Sege I@| W FEE BAE 20,000 B @ FWIGE WoHW &
8,000 BIpl ST |
W%WWWWWWWIWWWW&W
3:1:1 4

S, T and U were partners in a firm sharing profits in the ratio of 1:2:2. On 15.2.2013,
S died and new profit sharing ratio of T and U was agreed to be 3:2. On S’s death,
the goodwill of the firm was valued at ¥ 60,000.

Calculate the gaining ratio and pass necessary Journal Entries on S’s death for

treatment of goodwill without opening Goodwill Account. 5

S, T€ U 1:2:2 SIS FAS-(FFHA ©lst I ST A S 811 15.2.2013
S S~ [ =W @R T 8 U-aF TG -G S#ie 3:2 &awmsﬂa
TS AN =T 60,000 T R vt =

HICea Seite FuEd @ e S«ﬂaq@rwww@wmﬁﬁ%wﬁm
=1 Y& MS |

OR / 512}

State the legal requirements for issuing shares at a discount. 5

T3S SR el SR TReEeTE 3w
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discount of 5% but repayable after 5 years ata premium of 10%. Show the entries in
the books of the company and also the accounting treatment of loss on issue of
debentures for 5 years. 5

TR0 2R FHfide oSl 10 B! a0 10,0001 6% =@ 5 T A7 10% F(RE
S R ¥TE 5% AiGice R F@ | @7 T @INE Aol earem i i orem
@ oisig Riereard 2eT @Eee 5 3@ T @ 98 M I (e |

19. Amal and Bimal are two partneré in a firm. They share profits in the ratio of 3 : 2.
Following is their Balance Sheet as on 31.12.2012 on which date they dissolved their
partnership firm : 8

e @ R G SeTMIR) TR T SIS | It STTe- (AR Sgete 3:2 fe |
31.12.2012 S Sma &fooa frae @ee e ¢ T SiRedR efsomba Sk <06 |

Balance Sheet

i =
Liabilities ¢t 3 Assets g T
Capital — Fixed Assets 30,000
A — 7 ife
Amal o= 20,000 | Stock 10,000
Bimal &s& 15,000 35,000 | &S ey
Reserve Fund 5,000 | Debtors 15,000
A@fre Jffe =i
Creditors 20,000 | Cash 3,000
SAheAvIR T 4
Profit & Loss Account 2,000
60,000 60,000
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20.

SN SR S S S e TS SN W ATR LSS VR T\T MR g ) s mMSswan ) W mmemms o = m— ey == g - s

Creditors were paid at a discount of 10%. Expenses of realisation were ¥ 1,500.
Pass journal entries in the books of the firm.

fim T 28,000 i, WgS A 8,000 THW ¢ FREME 13,000 Bietw W zH |
NGAMICE 10% ATVICS e 1 2 | SRR 45 1,500 Tt |

QWIS GIAR O SATF wiewl dR[E arel

Jugmug Limited has an authorised capital of ¥ 10,00,000 divided into 1,00,000 equity
shares of ¥ 10 each. The directors decided to issue 50,000 shares to the public at a
premium of 10% payable as follows : 7 8

On application ¥ 3,
On allotment ¥ 5 (including premium) and the Balance on 1st and final call.

The company received application for 60,000 skares. The Directors decided to reject
the excess applications and the money thereon was refunded. The calls were made and
call money duly received. Give Journal entries, prepare a Cash Book and a Balance

Sheet in the books of the company.

sl FHfRbres Seaifte e 10,00,000 | 1,00,000% 10 Bit SRe ot T1 AR
AEETFNGE @7 50,0000 X 10% SiERIE gl g [/is sw faw gzt 7@
e @@ —

SRR A 3 Bil

ITER A 5 TR (SR R) @ I AR AT 7R (XTSI |

@I 60,000 SRR AW TREAZ FF | ALETTNEA] WOHG AT A5 I
CRR O T SIRFIF T GBI (FEQ (TF | SREIB OIH] Oo ) 41 29 @ Gl aifé <5 |
@AM AT TR Y TRt 2[R 1s, THi-[d Aol 2Fs @ OR BS @ (s |
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X @R Y SeTmiE I99F 31.3.2013 ©iffitd §ie Oge Resie w@ew e s

-Trial Balance

ERIGRCE
Debit (Sf<5 T Credit (S5 %
Fixed Assets 4,53,000 Reserve Fund 19,000
5 i€ ' Seafre S
Advance Income Tax 200 Outstanding wages 600
A S T AR TR
Salaries _ 16,000 Bad Debt Provision 1,400
Taxes : 800 Sundry Creditors _ 55,600
H - Rfeq AreTmE
Miscellaneous Expenses 1,000 Capitals —
[SIEERER] e
Bills Receivable 1,800 X | 2,40,000
oftsfy et ¢ Y . 1,60,000
Sundry Debtors 42,800 Profit from Joint Venture 1,000
Closing Stock 20,000 Profit from branch : 400
Charity - 1,400
7l
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Debit ()6 E4 T TCdedit Terlvb <
Investment 30,000 Trading Account (Gross Profit) | 1,24,600
et TR AR (6 1)
Bank Balance 15,600
T Tge
Drawings —
IEGE A

X 12,000

Y 8,000

6,02,600 6,02,600

Prepare Profit & Loss Account and Profit & Loss Appropriation Account for the year

ended 31.3.2013 and a Balance Sheet as on that date after taking into ¢

following adjustments :

onsideration the

31.3.2013%ﬁmwm—mmaaaw+mm@wﬁﬂmm
7@l ¢ Tia oWk R @ Fw b wifi fFfera ags ol

(i) The partners are entitled to interest

on drawings : X -% 300 and Y-< 200.

on capital @ 5% and they are charged intcrest

ST ToE B =S4l 5% T 7A@ TR SHZAER Toa X-CF 300 TRl
6 Y- 200 et 3 a1 2R

(i) Transfer 10% of the net profit to Reserve Fund.

% ACea 10% RS ffee ZHes |
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comumission.

[RICE GRG0 ) e (a0 1 i e S e

(iv) Bad Debt reserve is to be increased to 5% on debtors.

SR A e (ERIER B 5% 3 T 7@

(v) Interest on investment accrued ¥ 500.

RFTATR o 3@ 500 Biel AR SICg|

22. Swadip Petrochemicals Ltd. issued 10,000, 12% Debentrues of ¥ 100 each. Give
Journal entries for issue and redemption of debentures in"the books of the company

under the following situations : _ 8
(i)  Issued at par and redeer.nable after-five years at par;

(ii) Issuec{ at par and redeemable. after five years at a premium of 5%;

(1)) Issued at a premium of 5% and redeemable after five years at par;

(1v) Issued at a premium of 5% and redeemable after five years at a premium of 10%.

T AR e af$f 100 B Seemm 10,0008 12% weoim Risrd 3= |
TG (eT SR @R Wi Yeiieaa R ¢ sifeie o wiem =R/
oRES I ¢

(i) Wﬁwwmswmﬁmm

(i) T [}t 8 5 Teq S oA 5% SRR ARy |
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(v) *ToF1 5% iR Rfemwas @ 5 quem =7 o1 10% siRgE sReny |

OR / &2t

Explain the different methods-of redemption of debentures. : 8

Weieig wIf¥eiem Rien el i s |

-
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